1.

—x+5>3,2x-3>7 0] gslo] dHgHRS

5 L
=%

Al
al

o 8% Fatolz,



o] 3 414 $lo] vrepfolet.

3x—4<2x+1

Al
al

SRS




SEA A ozt

oo
=

0 2kl

oA

-@
-@

dx+3>-5--

11-2x>3--

L&

fife)
rviis
= = o
B B oo
i Hi o
oy o
© Q Mo
CURCUL
bo o |
ul il N




=4 2x+ 7> 3x

e
o
e

xXza

0%
(*]
rlr

B}

L

v

] 2~
571 3L o, ¢ <
,a 9 7ko
BA



xS§
agnsy 72
2x>a
2kel e
@ a>-6
@ -8<a<-6

° ntx
= 1=

@ -8<a<-6

o

Sote Ao A7t 50E W, a 9

® a<-8

® -8<a<-6



BSA 3x-16 <6x—4, x+1 <a® ZA52 a7t 22 1 7%t
=

SF= a 9 el WS Fofedel,



@ 27

G S B 2 A

@ 37K @ 471

@ 574

5 uske] 72 W, o] 40 3 ujsc} Atia gt of

® 67



@ 1A

@ 47

® 6 7}

@ 77H

® 1074



A~
A 2

@ 30 ® 32



x+3<ad 7t x< -5 L W, a9 F2?

@ 9 ® 12 @ -11 ® -12



11, dARSA 3x-a=5x 9 ol7bx<6 € wl, a & G227

@D -5 @ -12 ®0 @ 3 ® 5



12.

ax+6>0 9 Si7Fx <2 & W, a Of 27

D a>3 @ a=3
@ a<3 ® a<-3



® 2



02(x-3) < 05x+19 3] & 713 2
b

E}‘@—U’H’a2+b29’1%}:—%q_—5—}q;'



15. 02x-3< %x—% <3-06x9MNta<x<b Dl h—q o Zre?

@ 4 @ 6 ® 8 @ 10 ® 12



16.

SISl wiF 9= 1000 94, Aol

90 z:Foo] A o]o] HFAKT} Hol

Fofoder,

=
3%

m

=
.



17.

A &35H= 6000 Y, A0]= 9000 o] AZEHo] ot o2 E5EH

Sh= wi g 3000 @4, AH]= 2000 ¥4 oFTHA 2510] oo

ulo] al- gt gobAlt e @ AL 5 Feelx Lajelet,

YEE e

2 rlo gl



18. @A F-2 3000 €, T4 7000 ¥ol olFHe] et o &
19 @2 3000 94, T4 800 YY) of| Zethd, Fol oFst

ik
A
@® 20 714

@ 50 714

[¢]
ol ofl gt =9 3 v o]4fe] H& A2 2 INE TR ?

@ 30 71¥ ® 40 N4
® 60 71<



19.

600 g & 7} 1L 2% ©]st<]
afLt o] Fofof 5h=7]



20. 10% 9% 28= 500goA H|A& H g0 22
ojAe] AFEo] HAE=T

olN

TAIZIH F=7F 18%

O 22g @ 220g ® 240¢g

2000 2000
D 58 © —-s



32

21. 54059 Bt 2ol Z4F 1048 YUEY B2 10% 9] A2l
Holth. SEE 20% O 5] A5 F71E AT 44T 2
e B dom sk

@ 1074 @ 1274 ® 1374 @ 1574 ® 1674



22. O3 FolA Aer y = —2x + 18] Ijmof it Ao g vr=
AL BE N2H?
H7]
@ xgkol 257Fe o, y g2 47tAsict
© xHWE ol
© IHZ= AL, 2, 4AHEHS A gt
® y=2x9 IHZE x5 YFo 2 173 FolF gt
Jefzolct

@ 7]&7l= -2°]th

ORONGNC)
® 9,6,.6,8
©® 9,0,6,8,.6

GRGNCNC)
® 9,0,.0,6e



@
y
® *
2
yzgﬁg o
quﬂgx O];u
7}+4 - Fﬂ
ﬂﬁ ;}L;—;
. 9
iy

yl




e & QRS y = -+ 29) B B

i

© 2% oz o 4o
@ 718717k - ol

® A (4, 2) 5 Adh

@ A1, 2, AAFREE Ay

® y= x-49] TemuT} yFo] HEA g,

S|
=

E:

2 87

ok
=]

o
—C




